
MATHS

BOOKS - RD SHARMA MATHS (HINGLISH)

FACTORIZATION OF ALGEBRAIC EXPRESSIONS

Others

1. Factorize the following expressions : 

Watch Video Solution

x4 + 4x2 + 3

2. Factorize :
 
`

Watch Video Solution

27a3 + + +
1

64b3

27a2

4b

9a

16b2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_w15OpHtmTfkC
https://dl.doubtnut.com/l/_13XTPHWpqhkA


3. Simplify: 

Watch Video Solution

(x + y)3 − (x − y)3 − 6y(x2 − y2)

4. Prove that :


Watch Video Solution

= 1
0. 87 × 0. 87 × 0. 87 + 0. 13 × 0. 13 × 0. 13

0. 87 × 0. 87 − 0. 87 × 0. 13 + 0. 13 × 0. 13

5. Factorize each of the following expressions :
 ,

Watch Video Solution

54x6y + 2x3y4

8x2y3 − x5

6. Factorize each of the following expressions :
 
(ii) 

Watch Video Solution

x12 − y12 x9 − y9

https://dl.doubtnut.com/l/_EqGpkoc9Gq9y
https://dl.doubtnut.com/l/_JWe64fSWkHdJ
https://dl.doubtnut.com/l/_dkqel4uCIF0e
https://dl.doubtnut.com/l/_lm6EdNs2RWrG


7. Factorize :
(i) 


(ii) 


(iii) 

Watch Video Solution

x3 + 3x2 + 3x − 7

x3 − 3x2 + 3x + 7

x6 − 7x3 − 8

8. Factorize :
 (i) 
 (ii) 
 (iii) 

Watch Video Solution

(x + 1)3 (x + 1)3 + (x − 1)3

8(x + y)3 − 27(x − y)3

9. Factorize each of the following expressions :
 (i) 
 (ii) 
 (iii) 

Watch Video Solution

a6 − b6 a6 + b6

a7 + ab6

https://dl.doubtnut.com/l/_8AyuxI2WpLM6
https://dl.doubtnut.com/l/_zWGlfLFYxYUq
https://dl.doubtnut.com/l/_3TRh0KloUyjv


10. Factorize each of the following expressions by splitting the middle

term:


Watch Video Solution

9(x − 2y)2 − 4(x − 2y) − 13

11. What are the possible expression for the dimensions of a cuboid

whose
value is 

Watch Video Solution

2ky2 + 6ky − 20k

12. If 
prove that 

Watch Video Solution

p = 2 − a, a3 + 6ap + p3 − 8 = 0

13. Factorize the following expression :

Watch Video Solution

(2x − 3y)3 + (4z − 2x)3 + (3y − 4z)3

https://dl.doubtnut.com/l/_JuCmfECpb6JX
https://dl.doubtnut.com/l/_oiHqekyUR48t
https://dl.doubtnut.com/l/_hK04q2gcJujJ
https://dl.doubtnut.com/l/_EeqsH3rxuAAB


14. Factorize : 

Watch Video Solution

(a2 − b2)
3

+ (b2 − c2)
3

+ (c2 − a2)
3

15. Factorize : 

Watch Video Solution

(x − 2y)3 + (2y − 3z)3 + (3z − x)3

16. Simplify:


Watch Video Solution

(a2 − b2)
3

+ (b2 − c2)
3

+ (c2 − a2)
3

(a − b)3 + (b − c)3 + (c − a)3

17. Find the value of 
when 

Watch Video Solution

x3 − 8y3 − 36xy − 216, x = 2y + 6.

https://dl.doubtnut.com/l/_EeqsH3rxuAAB
https://dl.doubtnut.com/l/_bXXDEhndgrHS
https://dl.doubtnut.com/l/_LhSzTH2Zpapa
https://dl.doubtnut.com/l/_X0fDYtUN0UPP
https://dl.doubtnut.com/l/_pl6tq7lOZGGZ


18. Factorize the following expression :


Watch Video Solution

x4 + x2 + 1

19. Factorize each of the following expressions:

Watch Video Solution

2p(a − b) + 3q(5a − 5b) + 4r(2a − 2b)

20. Prove that :

Watch Video Solution

(a + b)3 + (b + c)3 + (c + a)3 − 3(a + b)(b + c)(c + a) = 2(a3 + b3 + c3

21. Factorize the following expression:


Watch Video Solution

4a2 + 12ab + 9b2 − 8a − 12b

https://dl.doubtnut.com/l/_Fx5d30kaVvi3
https://dl.doubtnut.com/l/_wNLz5HjO0noz
https://dl.doubtnut.com/l/_k3PsPF1hOYzy
https://dl.doubtnut.com/l/_U4tLznigBD3x
https://dl.doubtnut.com/l/_xT3df7RVP09v


22. Factorisation by grouping the terms:

Watch Video Solution

(x2 + 3x)
2

− 5(x2 + 3x) − y(x2 + 3x) + 5y

23. Factorize each of the following expressions :


Watch Video Solution

4a2 − 9b2 − 2a − 3b

24. Factorize:
(i) ,
 (ii) 

Watch Video Solution

8x3 + 27y3 + z3 − 18xyz a3 − 8b3 − 64c3 − 24abc

25. Factorize :
 





Watch Video Solution

64a3 + 125b3 + 240a2b + 300ab2 x3 + 1 + x2 + 2x
8

27

4
3

x3 + 8y3 + 6x2y + 12xy2 8a3 − 27b3 − 36a2b + 54ab2

x3 − 12x(x − 4) − 64

https://dl.doubtnut.com/l/_xT3df7RVP09v
https://dl.doubtnut.com/l/_F22SmbxEGGRK
https://dl.doubtnut.com/l/_PGh8ZRT66PRT
https://dl.doubtnut.com/l/_IQKIA2ELg43x


26. Examples based on the middle term concepts :

Watch Video Solution

(i)4√3x2 + 5x − 2√3(ii)5√5x2 + 30x + 8√5

27. Factorize : 

Watch Video Solution

(x2 − 4x)(x2 − 4x − 1) − 20

28. Factorize : 

Watch Video Solution

p3(q − r)3 + q3(r − p)3 + r3(p − q)3

29. Factorize : 

Watch Video Solution

(x − y)3 + (y − z)3 + (z − x)3

https://dl.doubtnut.com/l/_IQKIA2ELg43x
https://dl.doubtnut.com/l/_E8PQe1AukMy7
https://dl.doubtnut.com/l/_YwapemAh7n8E
https://dl.doubtnut.com/l/_DZD6LAGRwJvb
https://dl.doubtnut.com/l/_KMFfYarcJ98j
https://dl.doubtnut.com/l/_HLKIzRC4hiUS


30. Factorize :


Watch Video Solution

2√2x3 + 3√3y3 + √5(5 − 3√6xy)

31. Prove that :

Watch Video Solution

a3 + b3 + c3 − 3abc = (a + b + c){(a − b)2 + (b − c)2 + (c − a)2}
1

2

32. Factorize :


Watch Video Solution

2√2a3 + 8b3 − 27c3 + 18√2abc

33. Resolve 
into factors.

Watch Video Solution

a3 − b3 + 1 + 3ab

https://dl.doubtnut.com/l/_HLKIzRC4hiUS
https://dl.doubtnut.com/l/_KS6KPvIjLdxN
https://dl.doubtnut.com/l/_zsSLd0roTJjy
https://dl.doubtnut.com/l/_jDJDiY7ebteM


34. Factorise :


Watch Video Solution

(a + b)3 + (b + c)3 + (c + a)3 − 3(a + b)(b + c)(c + a)

35. Factorize each of the following expressions :

Watch Video Solution

x2 + 2xy + y2 − a2 + 2ab − b2

36. Factorize each of the following expressions :


Watch Video Solution

3 − 12(a − b)2

37. Factorize each of the following expressions :
 
​

Watch Video Solution

x(x + z) − y(y + z)

https://dl.doubtnut.com/l/_3rdrBiBEwc0K
https://dl.doubtnut.com/l/_KOsGgky56XwI
https://dl.doubtnut.com/l/_KhHe4BZU12Ar
https://dl.doubtnut.com/l/_7DgZ3aUBGHGP


38. Factorize each of the following expressions :


Watch Video Solution

a2 − b2 − a − b

39. Factorize each of the following expressions :


Watch Video Solution

25x2 − 10x + 1 − 36y2

40. Factorize each of the following expressions :


Watch Video Solution

1 − 2ab − (a2 + b2)

41. Factorize each of the following expressions:

Watch Video Solution

ab(a2 + b2 − c2) + bc(a2 + b2 − c2) − ca(a2 + b2 − c2)

https://dl.doubtnut.com/l/_HyXvHuzhG35C
https://dl.doubtnut.com/l/_M0OY75mqMq7k
https://dl.doubtnut.com/l/_10bqynSbCfpM
https://dl.doubtnut.com/l/_7kbE3CCMWekS


42. Factorize each of the following expressions:

Watch Video Solution

x(x2 + y2 − z2) + y( − x2 − y2 + z2) − z(x2 + y2 − z2)

43. Factorize each of the following expressions by splitting the middle

term:


Watch Video Solution

2(x + y)2 − 9(x + y) − 5

44. Factorize each of the following expressions by splitting the middle

term:


Watch Video Solution

8(a + 1)2 + 2(a + 1)(b + 2) − 15(b + 2)2

45. Factorize of the
expression:


Watch Video Solution

a3x + a2(x − y) − a(y + z) − z

https://dl.doubtnut.com/l/_ErIw6JsXLOh2
https://dl.doubtnut.com/l/_R0DvOsSFZYAw
https://dl.doubtnut.com/l/_ymO0UUPIw7LD
https://dl.doubtnut.com/l/_lkEvEa1QsHFB


46. Factorisation by grouping the terms:

Watch Video Solution

(x2 + 3x)
2

− 5(x2 + 3x) − y(x2 + 3x) + 5y

47. Factorize each of the
 following expressions:

Watch Video Solution

(5x − )
2

+ 4 (5x − ) + 4,  x ≠ 0
1

x

1

x

4(x + y)
2

− 28y(x + y) + 49y2

(2a + 3b)
2

+ 2 (2a + 3b)(2a − 3b) + (2a − 3b)
2

48. Factorise:
 (i) 
 (ii)

Watch Video Solution

4x2 + 9y2 + 16z2 + 12xy − 24yz − 16xz

2x2 + y2 + 8z2 − 2√2xy + 4√2yz − 8xz

https://dl.doubtnut.com/l/_lkEvEa1QsHFB
https://dl.doubtnut.com/l/_oP8PuipL5WwV
https://dl.doubtnut.com/l/_gtmX4sFFxIqf
https://dl.doubtnut.com/l/_XnwbZ4fBIku2
https://dl.doubtnut.com/l/_vTZ51SMBQTHr


49. Factorize each of the following algebraic expressions :
 
 (ii) 

Watch Video Solution

x8 − y8

a12x4 − a4x12

50. Factorize each of the following algebraic expressions :
 
 (ii) 

Watch Video Solution

x8 − y8

a12x4 − a4x12

51. Factorize each of the
 following expressions:


Watch Video Solution

4a2 − 9b2 − 2a − 3b

x2 + 2xy + y2 − a2 + 2ab − b2

52. Factorize each of the
 following expressions:
 
 (ii)

Watch Video Solution

3 − 12(a − b)
2

x(x + z) − y(y + z)

https://dl.doubtnut.com/l/_vTZ51SMBQTHr
https://dl.doubtnut.com/l/_bOrw9oYB3eTE
https://dl.doubtnut.com/l/_ZHVj1lzSAWWg
https://dl.doubtnut.com/l/_TPhJvSrqz0SG


53. Factorize each of the following expressions :
 
 (ii) 

Watch Video Solution

x4 + x2 + 1

x4 + 5x2 + 9

54. Factorize each of the
 following rational expressions:
 
 (ii) 

Watch Video Solution

x4 + 4

x4 + 4x2 + 3

55. Factorize the splitting
the middle term:


Watch Video Solution

x2 + 3√3x + 6

56. Factorize the splitting
the middle term:


Watch Video Solution

x2 + 3√3x − 30

https://dl.doubtnut.com/l/_TPhJvSrqz0SG
https://dl.doubtnut.com/l/_tdATiTzeS2Ba
https://dl.doubtnut.com/l/_q5YbgMat6ENn
https://dl.doubtnut.com/l/_AZGr4vRkVlwI
https://dl.doubtnut.com/l/_eUrZ36Q0Gsfs


57. Factorize : 

Watch Video Solution

(x2 − 4x)(x2 − 4x − 1) − 20

58. Factorize each of the following expressions :
 (i) ,

(ii) ,

Watch Video Solution

4√3x2 + 5x − 2√3

5√5x2 + 30x + 8√5

59. Factorize of the
expression:


Watch Video Solution

5√5 x2 + 30x + 8√5

60. Factorize of the
expression:


Watch Video Solution

7√2 x2 − 10x − 4√2

https://dl.doubtnut.com/l/_eUrZ36Q0Gsfs
https://dl.doubtnut.com/l/_ZmsuQ8lZoWIm
https://dl.doubtnut.com/l/_qv3v6Z0in0rU
https://dl.doubtnut.com/l/_wbWGdmbvW3FL
https://dl.doubtnut.com/l/_60UnjKL5TdO8
https://dl.doubtnut.com/l/_GMORIyNLgigU


61. Factorize each of the following expressions by splitting the middle

term:


Watch Video Solution

9(x − 2y)
2

− 4(x − 2y) − 13

62. Factorize each of the following expressions by splitting the middle

term:


Watch Video Solution

2(x + y)
2

− 9(x + y) − 5

63. Factorize each of the following expressions by splitting the middle

term:


Watch Video Solution

8(a + 1)
2

+ 2(a + 1)(b + 2) − 15(b + 2)
2

64. Give possible
expressions for the length and breadth of the rectangle

whose area is 

W h Vid S l i

25a2 − 35a + 12.

https://dl.doubtnut.com/l/_GMORIyNLgigU
https://dl.doubtnut.com/l/_mq2YovYBsWwp
https://dl.doubtnut.com/l/_9vNlH6DfjB5X
https://dl.doubtnut.com/l/_DtjYbcN9uYy0


Watch Video Solution

65. What are the possible
 expressions for the dimensions of a cuboid

whose volume is 

Watch Video Solution

2ky2 + 6ky − 20k.

66. Factorize: 

Watch Video Solution

x3 + x − 3x2 − 3

67. 

Watch Video Solution

a(a + b)
3

− 3a2b(a + b)

68. Factorize: 

Watch Video Solution

x(x3 − y3) + 3xy(x − y)

https://dl.doubtnut.com/l/_DtjYbcN9uYy0
https://dl.doubtnut.com/l/_fo6O48pR2d0T
https://dl.doubtnut.com/l/_2Lmy544IqUdF
https://dl.doubtnut.com/l/_6Jr9gGiP5F2D
https://dl.doubtnut.com/l/_NXK4gccmTBYR


69. Factorize: 

Watch Video Solution

x3 − 2x2y + 3xy2 − 6y3

70. Factorize: 

Watch Video Solution

6ab − b2 + 12ac − 2bc

71. Factorize: 

Watch Video Solution

(x2 + ) − 4(x + ) + 6
1

x2

1

x

72. Factorize: 

Watch Video Solution

x(x − 2)(x − 4) + 4x − 8

73. Factorize: (x + 2)(x2 + 25) − 10x2 − 20x

https://dl.doubtnut.com/l/_4cVC9IYyTvum
https://dl.doubtnut.com/l/_NqP52l1kxcXb
https://dl.doubtnut.com/l/_QODsuMmzFjHR
https://dl.doubtnut.com/l/_BYt32oJ2wCap
https://dl.doubtnut.com/l/_24ZpAuZDwCnh


Watch Video Solution

74. Factorize: 

Watch Video Solution

2a2 + 2√6ab + 3b2

75. Factorize: 

Watch Video Solution

(a − b + c)2 + (b − c + a)2 + 2(a − b + c)(b − c + a)

76. Factorize: 

Watch Video Solution

a2 + b2 + 2(ab + bc + ca)

77. Factorize: 

Watch Video Solution

4(x − y)2 − 12(x − y)(x + y) + 9(x + y)2

https://dl.doubtnut.com/l/_24ZpAuZDwCnh
https://dl.doubtnut.com/l/_Rw91tfGUyIys
https://dl.doubtnut.com/l/_t6sDYbyHPmE2
https://dl.doubtnut.com/l/_KSzSXrS9c21F
https://dl.doubtnut.com/l/_uWd6x84fnttd
https://dl.doubtnut.com/l/_nC034MoImmW4


78. Factorize: 

Watch Video Solution

a2 − b2 + 2bc − c2

79. Factorize: 

Watch Video Solution

a2 + 2ab + b2 − c2

80. Factorize: 

Watch Video Solution

a2 + 4b2 − 4ab − 4c2

81. Factorize: 

Watch Video Solution

xy9 − yx9

82. Factorize: x4 + x2y2 + y4

https://dl.doubtnut.com/l/_nC034MoImmW4
https://dl.doubtnut.com/l/_8Dnpsv1bs2XS
https://dl.doubtnut.com/l/_DST6PZJNoYIh
https://dl.doubtnut.com/l/_uOLVTQ0tv5Ov
https://dl.doubtnut.com/l/_sUhUTJhbX1cx


Watch Video Solution

83. Factorize: 

Watch Video Solution

x2 − y2 − 4xz + 4z2

84. Factorize: 

Watch Video Solution

x2 + 6 √2 x + 10

85. Factorize: 

Watch Video Solution

x2 − 2 √2 x − 30

86. Factorize: 

Watch Video Solution

x2 − √3 x − 6

https://dl.doubtnut.com/l/_sUhUTJhbX1cx
https://dl.doubtnut.com/l/_Hvepg3HyADPg
https://dl.doubtnut.com/l/_t0oUoFZLSVpI
https://dl.doubtnut.com/l/_ACu0UcvAXfbb
https://dl.doubtnut.com/l/_CpAOlKyAduJ7
https://dl.doubtnut.com/l/_P3RWRix897tP


87. Factorize: 

Watch Video Solution

x2 + 5 √5 x + 30

88. Factorize: 

Watch Video Solution

x2 +  2 √3 x − 24

89. 

Watch Video Solution

2x2 − x +
5

6

1

12

90. Factorize: 

Watch Video Solution

x2 + x +
12

35

1

35

91. Factorize: 21x2 − 2x +
1

21

https://dl.doubtnut.com/l/_P3RWRix897tP
https://dl.doubtnut.com/l/_3dnUs8Zu2piv
https://dl.doubtnut.com/l/_GmiVqDo4Ig0h
https://dl.doubtnut.com/l/_mwMf0Q7eA9gm
https://dl.doubtnut.com/l/_Bt9pIjwSQQZK


Watch Video Solution

92. Factorize: 

Watch Video Solution

5 √5 x2 + 20x + 3 √5

93. Factorize: 

Watch Video Solution

2x2 + 3 √5 x + 5

94. solve


Watch Video Solution

(2a − b)(18a − 9b − 4)

95. 

Watch Video Solution

7(x − 2y)2 − 25(x − 2y) + 12

https://dl.doubtnut.com/l/_Bt9pIjwSQQZK
https://dl.doubtnut.com/l/_etRXKx60s73P
https://dl.doubtnut.com/l/_nJZyl5ZX7HbT
https://dl.doubtnut.com/l/_AOFvmLEbnASv
https://dl.doubtnut.com/l/_tldoTZzJRz0G
https://dl.doubtnut.com/l/_SSOtJVgLkSCS


96. Factorize each of the following expressions by splitting the middle

term:


Watch Video Solution

2(x + y)2 − 9(x + y) − 5

97. Give possible expressions for the
 length and breadth of each of the

following
 rectangles, in which their areas are
 given:
 Area:


Area:


Watch Video Solution

25a2 − 35a + 12 35y2 + 13y − 12

98. What are the possible
 expressions for the dimensions of the cuboid

whose volume is 

Watch Video Solution

3x2 − 12x.

99. Factorize :
a3 + 27

https://dl.doubtnut.com/l/_SSOtJVgLkSCS
https://dl.doubtnut.com/l/_y4MdFrgGrYK7
https://dl.doubtnut.com/l/_BbimOIHneIyb
https://dl.doubtnut.com/l/_Vc4lsW9pLXcU


Watch Video Solution

100. Factorize: 

Watch Video Solution

27a3 + 125b3

101. Factorize: 

Watch Video Solution

(2a + 1)3 +  (a − 1)3

102. Factorize: 

Watch Video Solution

a3 − 0. 216

103. Factorize: 

Watch Video Solution

p6 − 512q6

https://dl.doubtnut.com/l/_Vc4lsW9pLXcU
https://dl.doubtnut.com/l/_DKZhOsVezi5O
https://dl.doubtnut.com/l/_5ec3iLeHMvIY
https://dl.doubtnut.com/l/_61mOpYoOcVMA
https://dl.doubtnut.com/l/_lktfOcJAwMr8
https://dl.doubtnut.com/l/_YFTPn3Rd5UTL


104. Factorize: 

Watch Video Solution

(x + 1)3 − (x − 1)3

105. Factorize: 

Watch Video Solution

(x + 1)3 + (x − 1)3

106. Factorize: 

Watch Video Solution

8(x + y)3 − 27 (x − y)3

107. Factorize: 

Watch Video Solution

a6 − b6

108. Factorize: a6 + b6

https://dl.doubtnut.com/l/_YFTPn3Rd5UTL
https://dl.doubtnut.com/l/_8adjbgkkPdRi
https://dl.doubtnut.com/l/_sXu6K23IKlIa
https://dl.doubtnut.com/l/_8Ek2Ztv1A2yQ
https://dl.doubtnut.com/l/_BBU4IzpyzI2X


Watch Video Solution

109. Factorize: 

Watch Video Solution

a7 + ab6

110. Factorize each of the following expressions :
 
(ii) 

Watch Video Solution

x12 − y12 x9 − y9

111. Factorize each of the following expressions :
 
(ii) 

Watch Video Solution

x12 − y12 x9 − y9

112. Factorize: 

Watch Video Solution

x3 + 3x2 + 3x − 7

https://dl.doubtnut.com/l/_BBU4IzpyzI2X
https://dl.doubtnut.com/l/_E9Y5BX3RQIeL
https://dl.doubtnut.com/l/_FzhoEFsmGPZv
https://dl.doubtnut.com/l/_143iBSDNnbaE
https://dl.doubtnut.com/l/_tj6LMKl1Q0s5
https://dl.doubtnut.com/l/_Ux97kEC6YzDi


113. Factorise:

Watch Video Solution

x3 − 3x2 + 3x + 7

114. Factorize: 

Watch Video Solution

x6 − 7x3 − 8

115. Prove that :


Watch Video Solution

= 1
0. 87x0. 87x0. 87 + 0. 13x0. 13x0. 13

0. 87x0. 87 − 0. 87x0. 13 + 0. 13x0. 13

116. Factorize: 

Watch Video Solution

p3 + 27

117. Factorize: y3 + 125

https://dl.doubtnut.com/l/_Ux97kEC6YzDi
https://dl.doubtnut.com/l/_2iVCjIciXH61
https://dl.doubtnut.com/l/_xQGbOc6K9RVo
https://dl.doubtnut.com/l/_nJCW8DNglV88
https://dl.doubtnut.com/l/_ZMv5wKsFwpYz


Watch Video Solution

118. Factorize: 

Watch Video Solution

1 − 27 a3

119. Factorize: 

Watch Video Solution

8x3y3 + 27a3

120. Factorize: 

Watch Video Solution

64a3 − b3

121. Factorize: 

Watch Video Solution

− 8y3x3

216

https://dl.doubtnut.com/l/_ZMv5wKsFwpYz
https://dl.doubtnut.com/l/_hXSGjeODli7B
https://dl.doubtnut.com/l/_TO8xmDodoiBG
https://dl.doubtnut.com/l/_gYZzxrgUWgZ1
https://dl.doubtnut.com/l/_8rlhCLIpzscX
https://dl.doubtnut.com/l/_rlx8CkXgCiyJ


122. Factorize: 

Watch Video Solution

10x4y − 10xy4

123. Factorize: 

Watch Video Solution

54x6y + 2x3y4

124. Factorize: 

Watch Video Solution

32a3 + 108b3

125. Factorize: 

Watch Video Solution

(a − 2b)
3

− 512b3

126. Factorize: (a + b)
3

− 8(a − b)
3

https://dl.doubtnut.com/l/_rlx8CkXgCiyJ
https://dl.doubtnut.com/l/_spxLNwkid8DG
https://dl.doubtnut.com/l/_nw9hEde1rYJO
https://dl.doubtnut.com/l/_zkdw6pFwN3dW
https://dl.doubtnut.com/l/_giT0U7s5fMVa


Watch Video Solution

127. Factorize: 

Watch Video Solution

(x + 2)
3

+ (x − 2)
3

128. Factorise 

Watch Video Solution

8x2y3 − x5

129. Factorize: 

Watch Video Solution

1029 − 3x3

130. Factorize: 

Watch Video Solution

x6 + y6

https://dl.doubtnut.com/l/_giT0U7s5fMVa
https://dl.doubtnut.com/l/_XlByMFXakTDD
https://dl.doubtnut.com/l/_2tBjJFBMy0QK
https://dl.doubtnut.com/l/_OJqnsB6seqUS
https://dl.doubtnut.com/l/_lyvXEznkE4TJ
https://dl.doubtnut.com/l/_yjjpAeemAR4A


131. Factorize: 

Watch Video Solution

x3y3 + 1

132. Factorize: 

Watch Video Solution

x4y4 − xy

133. Factorize: 

Watch Video Solution

a12 + b12

134. Factorize: 

Watch Video Solution

x3 + 6x2 + 12x + 16

135. Factorize: a3 + b3 + a + b

https://dl.doubtnut.com/l/_yjjpAeemAR4A
https://dl.doubtnut.com/l/_F37bbGDJ7HK2
https://dl.doubtnut.com/l/_rI2nz6AvbjAy
https://dl.doubtnut.com/l/_aX4pJqtwlH4K
https://dl.doubtnut.com/l/_nP9LJfpGILHt


Watch Video Solution

136. Factorize: 


Watch Video Solution

a3 − − 2a +
1

a3

2

a

137. Factorize: 


Watch Video Solution

a3 + 3a2b + 3ab2 + b3 − 8

138. Factorize: 

Watch Video Solution

8a3 − b3 − 4ax + 2bx

139. Simplify:


Watch Video Solution

173  ×  173  ×  173 + 127  ×  127  ×  127
173  ×  173 − 173  ×  127 + 127  ×  127

https://dl.doubtnut.com/l/_nP9LJfpGILHt
https://dl.doubtnut.com/l/_BlSfEtsvHndD
https://dl.doubtnut.com/l/_SgTxeE781nsh
https://dl.doubtnut.com/l/_G7Q209ggvUma
https://dl.doubtnut.com/l/_kL6dZLIKgOsc
https://dl.doubtnut.com/l/_h9DDJUw4g5ME


140. Simplify:


Watch Video Solution

155  ×  155  ×  155 − 55  ×  55  ×  55

155  ×  155 + 155  ×  55 + 55  ×  55

141. Simplify:


Watch Video Solution

1. 2  ×  1. 2  ×  1. 2 − 0. 2  ×  0. 2  ×  0. 2

1. 2  ×  1. 2 + 1. 2  ×  0. 2 + 0. 2  ×  0. 2

142. Factorize:


Watch Video Solution

8a3 + b3 + 12a2b + 6ab2

143. Factorize:


Watch Video Solution

8a3 − b3 − 12a2b + 6ab2

144. Factorize:
27 − 125a3 − 135a + 225a2

https://dl.doubtnut.com/l/_h9DDJUw4g5ME
https://dl.doubtnut.com/l/_0lq1y7pbqQTC
https://dl.doubtnut.com/l/_FgDo4raslVzJ
https://dl.doubtnut.com/l/_Cx0iJkhABTSL
https://dl.doubtnut.com/l/_oH0JVD4gr98J


Watch Video Solution

145. Factorize:


Watch Video Solution

64a3 − 27b3 − 144a2b + 108ab2

146. Factorize:


Watch Video Solution

27 p3 − − p2 + p
1

216

9

2

1

4

147. Factorize :27a³ + 125b³

Watch Video Solution

148. Factorize:


Watch Video Solution

x3 − 8 − x2 + x
64
125

96

25
48
5

https://dl.doubtnut.com/l/_oH0JVD4gr98J
https://dl.doubtnut.com/l/_ITsdJnD3upBy
https://dl.doubtnut.com/l/_7BLVPbjNjs8a
https://dl.doubtnut.com/l/_9izo5UW38lta
https://dl.doubtnut.com/l/_dhJH2xpZkRP3
https://dl.doubtnut.com/l/_KnVAabE0lqt2


149. Factorize:


Watch Video Solution

a3 + 3a2b + 3ab2 + b3 − 8

150. Factorize:


Watch Video Solution

64a3 + 125b3 + 240a2b + 300ab2

151. Factorize:


Watch Video Solution

125x3 − 27y3 − 225x2y + 135xy2

152. Factorize:


Watch Video Solution

x3 + 1 + x2 + 2x
8

27

4

3

153. Factorise 
.8x3 + 27y3 + 36x2y + 54xy2

https://dl.doubtnut.com/l/_KnVAabE0lqt2
https://dl.doubtnut.com/l/_kOmsNKTAc9q8
https://dl.doubtnut.com/l/_DBagpDaP0unN
https://dl.doubtnut.com/l/_lmXS0zO5kyST
https://dl.doubtnut.com/l/_251JCRJElv0E


Watch Video Solution

154. Factorize:


Watch Video Solution

a3 − 3a2b + 3ab2 − b3 + 8

155. Factorize:


Watch Video Solution

x3 + 8y3 + 6x2y + 12xy2

156. Factorize:


Watch Video Solution

8x3 + y3 + 12x2y + 6xy2

157. Factorize:


Watch Video Solution

8a3 + 27b3 + 36a2b + 54ab2

https://dl.doubtnut.com/l/_251JCRJElv0E
https://dl.doubtnut.com/l/_aXyM0rKmIXbV
https://dl.doubtnut.com/l/_qZOjdgmTqC2E
https://dl.doubtnut.com/l/_zACERvBRzKlo
https://dl.doubtnut.com/l/_ANGGLxs05yca
https://dl.doubtnut.com/l/_lDL3pNo7sykW


158. Factorize:


Watch Video Solution

8a3 − 27b3 − 36a2b + 54ab2

159. Factorize:


Watch Video Solution

x3 − 12x(x − 4) − 64

160. Factorize:


Watch Video Solution

a3x3 − 3a2bx2 + 3ab2x − b3

161. Factorize:


Watch Video Solution

8x3 + 27y3 + z3 − 18xyz

162. Factorize:
a3 − 8b3 − 64c3 − 24abc

https://dl.doubtnut.com/l/_lDL3pNo7sykW
https://dl.doubtnut.com/l/_g20aUyzaSq8o
https://dl.doubtnut.com/l/_lFsHYziZVUFk
https://dl.doubtnut.com/l/_4ZSrOYq5Vj44
https://dl.doubtnut.com/l/_fQLIMZkYqkGK


Watch Video Solution

163. Factorise :


Watch Video Solution

(a + b)3 + (b + c)3 + (c + a)3 − 3(a + b)(b + c)(c + a)

164. Resolve 
into factors.

Watch Video Solution

a3 − b3 + 1 + 3ab

165. Factorize :


Watch Video Solution

2√2a3 + 8b3 − 27c3 + 18√2abc

166. Prove that :

Watch Video Solution

a3 + b3 + c3 − 3abc = (a + b + c){a − b)2 + (b − c)2 + (c − a)2}
1

2

https://dl.doubtnut.com/l/_fQLIMZkYqkGK
https://dl.doubtnut.com/l/_lxp5SVa8zLkr
https://dl.doubtnut.com/l/_gprYPYECsz8q
https://dl.doubtnut.com/l/_wh6muMVrVlr5
https://dl.doubtnut.com/l/_lWzK6ZH4chX4


167. Prove that :

Watch Video Solution

(a + b)3 + (b + c)3 + (c + a)3 − 3(a + b)(b + c)(c + a) = 2(a3 + b3 + c3

168. Factorize :


Watch Video Solution

2√2x3 + 3√3y3 + √5(5 − 3√6xy)

169. Find the product:


Watch Video Solution

(a − b − c)(a2 + b2 + c2 + ab + ac − bc)

170. Find the product:

Watch Video Solution

(3x − 5y − 4)(9x2 + 25y2 + 15xy + 12x − 20y + 16)

https://dl.doubtnut.com/l/_lWzK6ZH4chX4
https://dl.doubtnut.com/l/_4uWe2qSy4mU4
https://dl.doubtnut.com/l/_o0vZXqKmLPG9
https://dl.doubtnut.com/l/_SVggDgcxa2aD
https://dl.doubtnut.com/l/_y8aLoJ3wpln2


171. Factorize : 

Watch Video Solution

(x − y)3 + (y − z)3 + (z − x)3

172. Factorize : 

Watch Video Solution

p3(q − r)3 + q3(r − p)3 + r3(p − q)3

173. Factorize : 

Watch Video Solution

(a2 − b2)
3

+ (b2 − c2)
3

+ (c2 − a2)
3

174. Factorize : 

Watch Video Solution

(x − 2y)3 + (2y − 3z)3 + (3z − x)3

https://dl.doubtnut.com/l/_y8aLoJ3wpln2
https://dl.doubtnut.com/l/_Yy9XvEGtLqOd
https://dl.doubtnut.com/l/_IPms0aVPhk78
https://dl.doubtnut.com/l/_TfDqmWCFaL5u
https://dl.doubtnut.com/l/_209MfBUj1jeE


175. Simplify:


Watch Video Solution

(a2 − b2)
3

+ (b2 − c2)
3

+ (c2 − a2)
3

(a − b)3 + (b − c)3 + (c − a)3

176. Find the value of


 when 

Watch Video Solution

(x − a)3 + (x − b)3 + (x − c)3 − 3(x − a)(x − b)(x − c)

a + b + c = 3x

177. Find the value of 
when 

Watch Video Solution

x3 − 8y3 − 36xy − 216, x = 2y + 6.

178. If 
prove that 

Watch Video Solution

p = 2 − a, a3 + 6ap + p3 − 8 = 0

https://dl.doubtnut.com/l/_FHQIwHWQ8kbG
https://dl.doubtnut.com/l/_tf9I3heN1k9Y
https://dl.doubtnut.com/l/_dUec2fsT7p7u
https://dl.doubtnut.com/l/_nTau9Ag1LYpr


179. Factorize:


Watch Video Solution

a3 + 8b3 + 64c3 − 24abc

180. Factorize:


Watch Video Solution

x3 − 8y3 + 27z3 + 18xyz

181. Factorize:


Watch Video Solution

27x3 − y3 − z3 − 9xyz

182. Factorize:


Watch Video Solution

x3 − y3 + 125z3 + 5xyz
1

27

183. Factorize:
8x3 + 27y3 − 216z3 + 108xyz

https://dl.doubtnut.com/l/_fS3jrMeeypwO
https://dl.doubtnut.com/l/_I6406CSrR8Mo
https://dl.doubtnut.com/l/_ABLbLKyVVK6o
https://dl.doubtnut.com/l/_6xoC1Mg9EQBW
https://dl.doubtnut.com/l/_pHR1zz9wjJas


Watch Video Solution

184. Factorize:


Watch Video Solution

125 + 8x3 − 27y3 + 90xy

185. Factorize:


Watch Video Solution

(3x − 2y)3 + (2y − 4z)3 + (4z − 3x)3

186. Factorize:


Watch Video Solution

(2x − 3y)3 + (4z − 2x)3 + (3y − 4z)3

187. Factorize:

Watch Video Solution

( + y + )
3

+   ( − + z)
3

+ ( − − − )
3

x

2
z

3

x

3

2y

3

5x

6

y

3

4z

3

https://dl.doubtnut.com/l/_pHR1zz9wjJas
https://dl.doubtnut.com/l/_ojqFj7HO8MPm
https://dl.doubtnut.com/l/_p1IUMbGYVhXh
https://dl.doubtnut.com/l/_GqGR6FqDBAhi
https://dl.doubtnut.com/l/_Mtla95NKHxeV


188. Factorize:


Watch Video Solution

(a − 3b)
3

+ (3b − c)
3

+ (c − a)
3

189. Factorize:


Watch Video Solution

2√2a3 + 3√3b3 + c3 − 3√6abc

190. Factorize:
 





Watch Video Solution

3√3a3 − b3 − 5√5c3 − 3√15abc

(√3a)
3

+ ( − b)
3

+ ( − √5c)
3

− 3√3a( − b)( − √5c)

(√3a − b − √5c)(√3a)
2

+ ( − b)
2

+ ( − √5c)
2

− √3a × ( − b) − ( − b)

(√3a2 − b − √5c)(3a2 + b2 + 5c2 + √3ab − √5bc + √15ca)

191. Factorize:
8x3 − 125y3 + 180xy + 216

https://dl.doubtnut.com/l/_Mtla95NKHxeV
https://dl.doubtnut.com/l/_Wf7HZVSGIBo7
https://dl.doubtnut.com/l/_l4km7VelF5XA
https://dl.doubtnut.com/l/_T7uroT1HMhKe
https://dl.doubtnut.com/l/_69qeVjOcSG59


Watch Video Solution

192. Factorize:


Watch Video Solution

2√2a3 + 16√2b3 + c3 − 12abc

193. Find the value of 

Watch Video Solution

x3 + y3 − 12xy + 64,   when  x + y = − 4

194. Multiply:
 
by 

Watch Video Solution

x2 + y2 + z2 − xy + xz + yz x + y − z

195. Multiply:
 
by 

Watch Video Solution

x2 + 4y2 + z2 + 2xy + xz − 2yz x − 2y − z

https://dl.doubtnut.com/l/_69qeVjOcSG59
https://dl.doubtnut.com/l/_F12WKLUVxIIT
https://dl.doubtnut.com/l/_VfZH6yfg6eD4
https://dl.doubtnut.com/l/_fkaAzdZbuI5O
https://dl.doubtnut.com/l/_JHC2HiKywj7f
https://dl.doubtnut.com/l/_Ilb47Nm48K3J


196. Multiply: 
by 








Now as per the formula,







Watch Video Solution

x2 + 4y2 + 2xy − 3x + 6y + 9 x − 2y + 3

(x2 + 4y2 + 2xy − 3x + 6y + 9)(x − 2y + 3)

(x − 2y + 3)(x2 + ( − 2y2) + (3)
2

− x( − 2y) − ( − 2y)3 − 3x)

a3 + b3 + c3 − 3abc = a2 + b2 + c2 − ab − bc − ca

x3 + ( − 2y)
3

+ 33 − 3(x)( − 2y)(3)

x3 − 8y3 + 27 + 18xy

197. Multiply:
 by 

Watch Video Solution

9x2 + 25y2 + 15xy − 12x + 20y + 16 3x − 5y + 4

198. Factorize: .

Watch Video Solution

x4 + x2 + 25 = 0

https://dl.doubtnut.com/l/_Ilb47Nm48K3J
https://dl.doubtnut.com/l/_6zwFKNYWuGwj
https://dl.doubtnut.com/l/_oik2DJiJNr4T


199. Factorize:


Watch Video Solution

x2 − 1 − 2a − a2

200. If 
then write the value of


Watch Video Solution

a + b + c = 0, a3 + b3 + c3

201. If 
find 

Watch Video Solution

a2 + b2 + c2 = 20  and a + b + c = 0, ab + bc + ca

202. If 
and 
find 


Watch Video Solution

a + b + c = 9 ab + bc + ca = 40, a2 + b2 + c2.

203. If 
and 
find a2 + b2 + c2 = 250 ab + bc + ca = 3, a + b + c

https://dl.doubtnut.com/l/_5O8CnC44APC9
https://dl.doubtnut.com/l/_rdum9ccNmb3W
https://dl.doubtnut.com/l/_Tn4gTVmUJBuv
https://dl.doubtnut.com/l/_qDcLEPNLgWXa
https://dl.doubtnut.com/l/_HtTKzoCi7hiz


Watch Video Solution

204. Write the value of ,If 

Watch Video Solution

253 − 753 + 503 a + b + c = 0

205. Write the value of 

Watch Video Solution

483 − 303 − 183

206. Write the value of 

Watch Video Solution

( )
3

+ ( )
3

−  ( )
3

1
2

1

3

5

6

207. Write the value of 

Watch Video Solution

303 + 203 − 503

https://dl.doubtnut.com/l/_HtTKzoCi7hiz
https://dl.doubtnut.com/l/_jKFk6IouONVa
https://dl.doubtnut.com/l/_mEbE7PpCisJW
https://dl.doubtnut.com/l/_kQIySvxcQNjG
https://dl.doubtnut.com/l/_R6hui8tNSOwO


208. The factors of 
 are
 (a) 
 (b)


(c) 
(d) none of these

Watch Video Solution

a2 − 1 − 2x − x2 (a − x + 1)(a − x − 1)

(a + x − 1)(a − x + 1) (a + x + 1)(a − x − 1)

209. The factors of 
are
(a)  (b)


 (c) 
 (d) none of

these

Watch Video Solution

x4 + x2 + 25 (x2 + 3x + 5)(x2 − 3x + 5)

(x2 + 3x + 5)(x2 + 3x − 5) (x2 + x + 5)(x2 − x + 5)

210. The factors of 
 are
 (a)


 (b) 
 (c)


(d)
none of these

Watch Video Solution

x2 + 4y2 + 4y − 4xy − 2x − 8

(x − 2y − 4)(x − 2y + 2) (x − y + 2)(x − 4y − 4)

(x + 2y − 4)(x + 2y + 2)

https://dl.doubtnut.com/l/_D3i7wKzGuozh
https://dl.doubtnut.com/l/_1k2D4gOXXesj
https://dl.doubtnut.com/l/_iDOfSsbXWYgO


211. The factors of 
are
(a 
(b)


(c) 
(d) 

Watch Video Solution

x3 − x2y − xy2 + y3 (x + y)(x2 − xy + y2)

(x + y)(x2 + xy + y2) (x + y)2(x − y) (x − y)2(x + y)

212. The factors of 
 are
 (a) 


 (b)


 (c)


(d)

Watch Video Solution

x3 − 1 + y3 + 3xy

(x − 1 + y)(x2 + 1 + y2 + x + y − xy)

(x + y + 1)(x2 + y2 + 1 − xy − x − y)

(x − 1 + y)(x2 − 1 − y2 + x + y + xy) 3(x + y − 1)(x2 + y2 − 1)

213. The factors of 
 are
 (a) 


 (b)


 (c)


 (d)

Watch Video Solution

8a3 + b3 − 6ab + 1

(2a + b − 1)(4a2 + b2 + 1 − 3ab − 2a)

(2a − b + 1)(4a2 + b2 − 4ab + 1 − 2a + b)

(2a + b + 1)(4a2 + b2 + 1 − 2ab − b − 2a)

(2a − 1 + b)(4a2 + 1 − 4a − b − 2ab)

https://dl.doubtnut.com/l/_42aHlpmtgxYF
https://dl.doubtnut.com/l/_sOZ9S63ulmZy
https://dl.doubtnut.com/l/_FMOlglUrgon9


Watch Video Solution

214.  can be factorized as
   (a) 
 (b) 


(c) 
(d)

Watch Video Solution

(x + y)3 − (x − y)3 2y(3x2 + y2)

2x(3x2 + y2) 2y(3y2 + x2) 2x(x2 + 3y2)

215. The factors of 
are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x3 − 7x + 6

x(x − 6)(x − 1)

(x2 − 6)(x − 1)

(x + 1)(x + 2)(x − 3)

(x − 1)(x + 3) (x − 2)

https://dl.doubtnut.com/l/_FMOlglUrgon9
https://dl.doubtnut.com/l/_8oaDcCuNmMK4
https://dl.doubtnut.com/l/_WnchVWtlMIzP


216. The expression 
can be factorized as

(a) 
 (b) 
 (c)


(d)

Watch Video Solution

(a − b)3 +  (b − c)3 +  (c − a)3

(a − b)(b − c)(c − a) 3(a − b)(b − c)(c − a)

−3 (a − b)(b − c)(c − a) (a + b + c)(a2 + b2 + c2 − ab − bc − ca)

217. The expression 
 can be factorized as
 (a) 


 (b) 
 (c)


(d)


Watch Video Solution

x4 + 4

(x2 + 2x + 2)(x2 − 2x + 2) (x2 + 2x + 2)(x2 + 2x − 2)

(x2 − 2x − 2)(x2 − 2x + 2) (x2 + 2)(x2 − 2)

218. If 
 then the value of 


 is
 (a)


(b) 
(c) 
(d) None of these

Watch Video Solution

3x = a + b + c,

(x − a)3 +  (x − b)3 +  (x − c)3 − 3 (x − a)(x − b)(x − c)

a + b + c (a − b)(b − c)(c − a) 0

https://dl.doubtnut.com/l/_Ug98ZIpQ5S84
https://dl.doubtnut.com/l/_DJL5WkJrTbTR
https://dl.doubtnut.com/l/_WyfFSpXW4A2B
https://dl.doubtnut.com/l/_SuOEbB6dnSF6


219. If 
then 
 (a)1 (b) 2

(c) 4 (d)
8

Watch Video Solution

(x + y)3 −  (x − y)3 − 6y (x2 − y2) =  ky3, k =

220. If 
then 

(a)4 (b) 12
(c) 
(d) 3

Watch Video Solution

x3 − 3x2 + 3x + 7 = (x + 1)(ax2 + bx + c), a + b + c =

−10

221. The value of 
is
(a)2 (b)
3 (c) 2.327 (d)
2.273

Watch Video Solution

(2. 3)
3

−  0. 027 

(2. 3)
2

+  0. 69 + 0. 09

222. The value of 
 is
 (a)

(b) 
(c)
 
(d)


Watch Video Solution

(0. 013)3 +  (0. 007)3

(0. 013)
2

−  0. 013  ×  0. 007 + (0. 007)
2

0. 006

0. 02 0. 0091 0. 00185

https://dl.doubtnut.com/l/_SuOEbB6dnSF6
https://dl.doubtnut.com/l/_RypvN1vhonXf
https://dl.doubtnut.com/l/_SpWhih9Fcfmp
https://dl.doubtnut.com/l/_obNsm4fvwzzb


https://dl.doubtnut.com/l/_obNsm4fvwzzb

